B | COMPUTERISED DRAWING
ASHOK | FIRST ANGLE PROJECTION @ @ 0 NDT CHANGE MAMLALLY AL TERATIONS g@f‘gt/\g GRADE| SUFFIX
SUPPLIER DRAWING APPROVED &
RELEASED RP/EA |15-06.07/ — | A.0O
ER-DIN-0000217
A \ B c \ D E F G H
LEYLAND CUSTOMER PART No : F8264800 @ SPECIAL CHARECTERISTICS | SPL. CHAR. ARE NUMBERED(n) DRG TEMPLATE UPDATED V/ONR  |28-11-10] = [A.1
- 55i2 SYMBOLS INSIDE THE SYMBOLS
? () - FIT / FUNCTION TOTAL NO. OF 4
_ & 80.0 _ ) SPL.CHAR. USED
1 0il filling cap (M18x1.5 thr‘efjlds) with pressure 56) @ SAFETY /COMPLIENGE LAST 'n' USED 4 1
g Relief valve opening pressure 2 bar%
2 1 |
5 i /’Lﬁ /
3 £
) . Bz !
e T = 9 — 4+ —
v S (M14x1.5) ; CONNECTOR "II"
0 @ g 8 35 .
= 225 [ (M12x1.5) ; CONNECTOR "I" b6 % K —
+ 2 =
= L < " 2 SCHEMATIC DIAGRAM
— n ©O = g
I s = Te)
= + . Lz o
53 528 (247) \ Rt
a C o > &=
T 59 g5 p < As +B
c e 2§ 2 “
5 S -k I - >< — °
G g8 3 !
2e 0 1 ¥
° 8T 5y E R11.0 — |
U > T 2 )
+~ o o 5 =
s . = 8
R 38 (4Min)
5 2 5n gz STAMP WITH Q
oy 2 = [ | WEEK / YEAR OF |
E N ‘2 g " g - MANUFACTURING - | \
= Lo = (Eg. 15/05-15th WEEK/Year '05) A SN NTI™ 17T A 1
o < > ‘ 8 < > -
28, NS ISR PN 10 & |
noS LT \ % STAMP WITH PART No | Q \
.~ o O -
S o 3 ‘ \ Wv T—‘
c o RS
o o]
2g L 3 ON o 5 I —— 3
§5 82 XA
n 5
3 CONNECTOR DETAILS ’%%“ |
N = ZANY - — a
c x O \ <>
— o 3O ’ ! L
Bore form 'W' DIN 3861 for pipe, /] \ ! »
external dia 6.0, Light range. _ | | ! | ] | |
. = o .
] e | I / —— ? o
— ©
L
e LT _ _ _ @Ai Space for Approval
Protecting Ca —
4 o L 4
SPECIFICATION : \ \ ! !
15 CONNECTOR "I*" i
1) Working Pressure(R ): 175 bar M12x1.5 CONNECTOR "II" 67i2-5
+20
Maximum (Pmax) : 200 bar (Pressure limit valve setting) M14x1.5
] +1.5 *3 ]
2) Output per pump stroke . 3.6 cm® min. - 30 - 125
3
3) Effective o0il qty (Installed) : 200 cm min. Note : -
4) Recommended 1. Dimensions mentioned within the brackets are for reference only.
effective length of hand lever: 600 mm
5 5
5) Force on 600 mm length lever
Chain 1 ror ‘Breather cap' ;
at nominal pressure (R ) : 250 N max. 10 Material : Brass/Stainless steel
6) Weight of dry product . 2.6 kgf (max.) 9 Washer Connector! 2 | Used along with connector I & II
. U d 1 th b 1 MATERIAL: HEAT TREATMENT: SURFACE TREATMENT:
7) Surface coating / Treatment : Painted ; Black colour 8 Spring Washer 4 sed atong Wi o1¢ 2
- Salt Spray Test : 300 hrs.(min.) as per 7 | Gasket 1
THIS DRAWING SUPERSEDES / CHAMFER & EXTERNAL RADII
ASTM B 117-1985. 6 Connector-II 1 SUPERSEDED BY AS PER I1S:2102 (1) / 1S0:2768 (1)
- MEDIUM
i A i 5 Connector\_ I 1 UNTOLERANCED DIMENSIONS - LINEAR
- No blistering is allowed X - - — — — gigmi?;gg; I?I)_E?A':ggi?; o1 | @ Jor-sumo-cr Dimt%ﬂ changed totsstz as per
- 0.5 to 3 + 0.05 + 0.1 customer requiremen
= - Under pellicular corrosion less than 2 mm 4 ust Cap ! 3 to6 +0.10 + 0.15 SURFACE TEXTURES (Ra IN um) ALT{ CH. | ECN No.& ALTERATIONS SIGN
— 6 D C I 1 6 to 30 + 0.15 + 0.20 AS PER 15:3073 / I1S0:1302 No. | LET| DATE 6
D ()] . . . 3 ust Cap- 30 to 120 | + 0.20 + 0.25 SCALE : N TS I
< 8) Working fluid : Servo transfluid ‘A'-make IOC 1td., (or) 120 to 500 | £ 0.30 | =z 0.50 | UN-ESS OTHERWISE SPECIFIED, * Pricol+
I_ > 2 Bolt 4 ALL DIMENSIONS ARE IN mm. DO NOT PRODUCT DEVPT & ENGG. (PUMPS)
< Gulf ATF type 'A'-make Gulf oil 1td., — UNTOLERANGED DIMENSIONS-ANGULAR | SCALE THIS DRG. IF IN DOUBT ASK. @ pricol 1td
—I (:E 1 0il Filling Cap 1 Nylon 6 UP TO 10 + 1 deg WEIGHT : = 2.5 kilograms COIMBATORE, INDIA.
4 9) Operating temperature -30°C to +60°C pem i m e K_S:ZN_%].a rsem e we s CAB.TILT.HYD.PUMP
D g S.No| DESCRIPTION QTY REMARKS ng: lsg TO 400 INCL i;omrinin z:ED DRG.No. : M421 00 00 OO OC
= = A B c | D | E | F G | H
< | D/Ramesh/Cab.Tilt Hyd.Pump&Cylinder/Ashok Leyland/Assy/M421 00 00 00 OC Form No : RDD 612 (6/96)
—
L
-y T02982 SN
o M421 00 00 00 OC F8264800 S 150607 — — 100 — —
- . . 15.06.07 AL PLM VAULT
L] w
_I E M421 00 00 00 OC F8264800 T02273 100 SN REVISION: A.1 DATE : 3/12/2010 STATUS: RELEASE
E 08.02.06 09.02.06 STAGE: 111 ER-DIN NO : ER-DIN-0006139 DATE : 3/12/2010
¥ (&) ALTERED BY : sundar.alvvc CHECKED BY : jnr.alvvc
o z:l SUPPLIER PART NO A.L PART NO SANPLE TRALL PRODUCTION SANPLE TRAIL SAMPLE TRAIL PRODUCTION MED APPROVAL : N/A APPROVED BY : snagarajan.alwe
(]
|
I = A'L APPROVAL NO' & DATE QUANTITY APPROVED BY/DATE DIGITALLY SIGNED . PHYSICAL SIGNATURE NOT REQUIRED
CD (:5 DRAWN/ | CHECKED/ |MED APPROVAL/|STDS APPROVAL/| APPROVED/
L DATE DATE DATE DATE DATE
< — HJ HJ SN
16.2.2006| 16.2.2006 21.2.2006 —
MATERIAL -
M 421 00 00 00 0C |F8264800 Qty: - Qty: - -
Supplier Part No |AL Part No Sample Pilot Production HEAT TREATMENT
- IMPORTANT (@ - CRITICAL (- SAFETY.  THIS DRG. CONTAINS[ -_]SAFETY CHARACTERISTIC
REMARKS
UNLESS OTHERWISE SPECIFIED SPECIAL INSTRUCTIONS/NOTE: BILL OF MATERIALS STALLION MARK III
APPEARANCE ITEM ER-DIN DATE
ASHOK | TOLERANCES | REFER IS:2102 : MEDIUM FOR MACHINING AND COARSE FOR FABRICATION NO ERDIN- - | ... DESCRIPTION
CAB TILT. PUMP
surrace | CSTCATEO.COMONRNTS To o DECHEASED: ESCNEB, AL ING ZUOSFUTE AT SE001 TR FINSHED WEIGHT(APPROX) | merprvo | -------
PROTECTION | (UNDER PELLICULAR CORROSION <= 2MM. NO BLISTERING IS ALLOWED.) XXX. XXX Kgs PART
: . S/IAPT No. | meeme---
MACHINED SURFACE TO BE APPLIED WITH RUST PREVENTIVE OIL TO IS:1I54 NG F 8 2 6 4 8 0 0 A . 1
SURFACE FINISH AS PER METRIC SCREW THREADS SHALL CONFORM TO THE LIMITS SHARP EDGES TO BE REMOVED SCALE SUPERSEDES | e e - .
% AND TOLERANCES SPECIFIED IN THE CURRENT [S:4218 DIMENSIONS ARE IN MM
LEYLAND |!8:3073 (CLA VALUE) CLASS 66 EXTERNAL OR 5H INTERNAL. DO NOT SCALE DRAWING NTS SPEC NO. HACM21/2 SHEET NO........... l..... OF i, | A1




